| have 5 groups of 7 apples. Jeremy
has 7 groups of 5 apples. Who has
more apples? Explain your
reasoning.

Jackson has 4 baskets with 5
flowers in each one. Bob has 5
baskets with 3 flowers in each.
Who has more flowers altogether?

Ellen had 380 legos, but she lost
57 of them. Her mom gave her 75
more for her birthday. How many
legos does she have now?

Arthur baked 28 muffins. How
many more muffins does Arthur
need to back to have 85 muffins?

Willy has 1400 crayons. Lucy has
290. How many more crayons
does Willy have than Lucy?

There are 10 stickers on a page. If
you have 22 pages of stickers, how
many stickers do you have?

There are 96 cupcakes for 8
children to share. How much will
each person get if they share the
cupcakes equally?

| have 48 pencils. If | put 4 pencils
in each box, how many boxes will |
need for all of my pencils?

White shirts can be purchased in
packages of 6. If Mom buys 80
packages, how many shirts will she
have?

This work is licensed under a
Creative Commons Attribution-
NonCommercial 4.0 International License.
Florida State University. Find these and other free
resources for teaching mathematics
at www.teachingisproblemsolving.org

| have 5 groups of 7 apples. Jeremy
has 7 groups of 5 apples. Who has
more apples? Explain your
reasoning.

Jackson has 4 baskets with 5
flowers in each one. Bob has 5
baskets with 3 flowers in each.
Who has more flowers altogether?

Ellen had 380 legos, but she lost
57 of them. Her mom gave her 75
more for her birthday. How many
legos does she have now?

Arthur baked 28 muffins. How
many more muffins does Arthur
need to back to have 85 muffins?

Willy has 1400 crayons. Lucy has
290. How many more crayons
does Willy have than Lucy?

There are 10 stickers on a page. If
you have 22 pages of stickers, how
many stickers do you have?

There are 96 cupcakes for 8
children to share. How much will
each person get if they share the
cupcakes equally?

| have 48 pencils. If | put 4 pencils
in each box, how many boxes will |
need for all of my pencils?

White shirts can be purchased in
packages of 6. If Mom buys 80
packages, how many shirts will she
have?

This work is licensed under a
Creative Commons Attribution-
NonCommercial 4.0 International License.
Florida State University. Find these and other free
resources for teaching mathematics
at www.teachingisproblemsolving.org

| have 5 groups of 7 apples. Jeremy
has 7 groups of 5 apples. Who has
more apples? Explain your
reasoning.

Jackson has 4 baskets with 5
flowers in each one. Bob has 5
baskets with 3 flowers in each.
Who has more flowers altogether?

Ellen had 380 legos, but she lost
57 of them. Her mom gave her 75
more for her birthday. How many
legos does she have now?

Arthur baked 28 muffins. How
many more muffins does Arthur
need to back to have 85 muffins?

Willy has 1400 crayons. Lucy has
290. How many more crayons
does Willy have than Lucy?

There are 10 stickers on a page. If
you have 22 pages of stickers, how
many stickers do you have?

There are 96 cupcakes for 8
children to share. How much will
each person get if they share the
cupcakes equally?

| have 48 pencils. If | put 4 pencils
in each box, how many boxes will |
need for all of my pencils?

White shirts can be purchased in
packages of 6. If Mom buys 80
packages, how many shirts will she
have?

This work is licensed under a
Creative Commons Attribution-
NonCommercial 4.0 International License.
Florida State University. Find these and other free
resources for teaching mathematics

at www.teachingisproblemsolving.org




